
C1

C1 is ________ than 15 age.

Answer: ___________________

15 age is ________ than C1.

Answer: ___________________

C1 costs ________ than 15 age.

Answer: ___________________

15 age costs ________ than C1.

Answer: ___________________

C1 is ________ in size than 15 age.

Answer: ___________________

15 age is ________ in size than C1.

Answer: ___________________

C1 is ________ in weight than 15 age.

Answer: ___________________

15 age is ________ in weight than C1.

Answer: ___________________

C1 has ________ features than 15 age.

Answer: ___________________

15 age has ________ features than C1.

Answer: ___________________



Answers

C1 is ________ than 15 age.

Answer: more expensive

15 age is ________ than C1.

Answer: cheaper

C1 costs ________ than 15 age.

Answer: more expensive

15 age costs ________ than C1.

Answer: cheaper

C1 is ________ in size than 15 age.

Answer: larger

15 age is ________ in size than C1.

Answer: smaller

C1 is ________ in weight than 15 age.

Answer: heavier

15 age is ________ in weight than C1.

Answer: lighter

C1 has ________ features than 15 age.

Answer: more

15 age has ________ features than C1.

Answer: fewer


